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And they do not argue; this — FTOINK 59 MY STINK 59 1 3vHD KDY
master according to his place and this master according to his place

OVERVIEW

The 71wn states that the 0°51 maintain that in order to divide a field there must be
at least nine 2P for each partner, while 777> "1 maintains that only nine half-7°3p
for each partner is required. The X3 states that there is no real dispute,' in the
place of the P"n nine 12p are required and in the place of "3 only 2P XX Aywn
are required. Mo0N explains what is the difference between their places.

— 20 IVUN YPIP NN NTIN? 2297 NPINNIT 22792 13°29 12 PNNY 12’19 SURLY)

The 2''2 explained that the ground in s'>''9 area was of a good high quality -
— %1357 INYN NYWNI NIOY 2IUN N

And it was worthwhile to toil (alone) in an area of %2 SXxn 'v [and even though

it was not sufficient work for one day’s plowing,’ it was still worthwhile to toil]
%27 NYYNN HHINSA NHVY 2IWN NYPY 3 Y5 210 ¥P9P 151 KY NP NINT NPINNA Yan

However in the s'?'"'n place the ground was not so fertile that it should be

worthwhile to toil (and till) the land for an area less than °2p 'v -
— °A1YDY 790 IR B NN 31913 1PN KW 9 Y N

(And even though that both °"77 7°7nX21 p"n7 7°7NX3, there was not sufficient
land [in 2P "0 or P3P °X¥m 'v] to plow one full day, nevertheless it was
worthwhile to toil and till the land for 1°2p "0 or Pap X3 v [respectively for the > p"n].)

mooIn justifies the 2"2™ "o:
$1990IWNA MIWA NYIY MR IR 79 Y9 210 ¥P9PN PRV IND 5233 sy NOWM

! Without the X3 we may have assumed that there is a npom» as to how much land is necessary to make it
worthwhile for an individual to till; however the X3 clarifies that there is no dispute at all.

? The 0"2™ is negating an alternate interpretation (of the N, see 1w* NMdLIN) that 71277 7°NXA people were able to
plow 137 'v in one day (because it was good earth), while "7 7°nX2 they were able to till only 73 X7 "0 in one
day (since it was rocky land). The overarching rule then is that one day’s plowing is required for a division. See
footnotes # 6 & 7.

? The n"a7 M inserts here (the line which is mentioned later in MmvOIN): 3°77 INT QY DY 73 12 77°7 KPW °D HY AR

mv> (and deletes it there).

* The farmers do not want to work the land for less than a day, since the workers are hired by the day, they will need
to overpay the workers and lose money.

> The n"27 mixa deletes this entire line and inserts it previously (see footnote # 3).

% The people would certainly prefer to have a field which requires a full day’s work, but nevertheless the 021 ruled
that one may coerce a division even if it is not a full day’s work, since it is worthwhile.

" If we were to assume that 70X *3 *X7 means the explanation which the 0"2 negates (see footnote # 2), that
people are not willing to till less than a day’s work, then what is the question *Xn 9223; let us see how much land
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So now the X3 queries, what is the ruling in %33, where the ground is not so
fertile and it is not worthwhile to till the land for the amount taught in our

7R (it is not even worth it for the greater amount of 1°27 "0 which the »"n maintains, since it is
less than a day’s work).

SUMMARY
The oo allow coercing a division (even if there is not a full day’s work) as long
as it will be worthwhile to till the land.

THINKING IT OVER

What does it mean that it is not 7°2p "vn N2 MWL 2Wn (or PP X3 '0)? Does it
mean it is not profitable? If someone owns land less than 12p "o (or 7°3p XRX1 'v),
will he not plant it?

requires a day’s work in 922. However according to the "1 "9 (that the 231 imposed a 7171 even if it was not a
day’s work), the query of *X» 9221 is understood, as MooIN explains.
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